

A Noncommutative but Internal Addition on the Banach Algebra A_t

DONG SIK KIM AND KUN SIK RYU

1. Introduction.

In [1], Johnson and Lapidus introduced a family $\{A_t | t > 0\}$ of Banach algebras of functionals on Wiener space and showed that for every F in A_t , the analytic operator-valued function space integral $K_\lambda^t(F)$ exists for all nonzero complex numbers λ with nonnegative real part. In [2, 3] Johnson and Lapidus introduced a noncommutative multiplication $*$ having the property that if $F \in A_{t_1}$ and $G \in A_{t_2}$ then $F * G \in A_{t_1+t_2}$ and

$$K_\lambda^{t_1+t_2}(F * G) = K_\lambda^{t_1}(F)K_\lambda^{t_2}(G).$$

Note that for F, G in A_t , $F * G$ is not in A_t but rather is in A_{2t} and so the multiplication $*$ is not internal to the Banach algebra A_t . In [4], the second author and professor Skoug introduced an internal noncommutative multiplication \otimes on A_t having the property that for F, G in A_t , $F \otimes G$ is in A_t and

$$K_\lambda^t(F \otimes G) = K_{2\lambda}^t(F)K_{2\lambda}^t(G)$$

for all nonzero λ with nonnegative real part.

In this paper we introduce an internal noncommutative addition \oplus on A_t having the property that for F, G in A_t , $F \oplus G$ is in A_t and

$$K_\lambda^t(F \oplus G) = K_{2\lambda}^t(F) \exp(-2\lambda H_0/t) + \exp(-2\lambda H_0/t) K_{2\lambda}^t(G)$$

for all nonzero λ with nonnegative real part where H_0 is a free Hamiltonian.

Received by the editors on May 24, 1988.

1980 *Mathematics subject classifications*: Primary 28.

2. Preliminaries.

We will adopt much of the notation and terminology used in [1, 3]. However, we will include a brief description of the Banach algebra A_t and the operator-valued function space integral $K_\lambda^t(F)$.

Let C , C_+ , and C_+^\sim denote the complex numbers, the complex numbers with positive real part, and the nonzero complex numbers with nonnegative real part respectively. Let $L^2(R^N)$ denote the space of Borel measurable, C -valued functions ψ on R^N such that $|\psi|^2$ is integrable with respect to Lebesgue measure on R^N .

For given $t > 0$, let $C[0, t]$ denote the R^N -valued continuous on $[0, t]$ and let $C_0[0, t]$ denote Wiener space; that is the set of all functions in $C[0, t]$ that vanish at 0. Let $m_{[0, t]}$ denote Wiener measure on $C_0[0, t]$.

Let $F : C[0, t] \rightarrow C$ be Borel measurable. For given $\lambda > 0$, $\psi \in L^2(R^N)$ and $\xi \in R^N$, consider the expression

$$(1) \quad (K_\lambda^t(F)\psi)(\xi) = \int_{C_0[0, t]} F(\lambda^{-1/2}x + \xi)\psi(\lambda^{-1/2}x(t) + \xi) dm_{[0, t]}(x).$$

The operator-valued function space integral $K_\lambda^t(F)$ exists for $\lambda > 0$ if (1) defines $K_\lambda^t(F)$ as an element of $(L_2(R^N))$, the space of bounded linear operators on $L_2(R^N)$. If, in addition, $K_\lambda^t(F)$, as a function of λ , has an extension to an analytic function on C_+ and to a strongly continuous function on C_+^\sim , we say that $K_\lambda^t(F)$ exists for $\lambda \in C_+^\sim$. When λ is purely imaginary $K_\lambda^t(F)$ is called the analytic operator-valued Feynman integral of F .

Let $M[0, t)$ denote the space of C -valued Borel measures on $[0, t)$. Given $\eta \in M[0, t)$, let $L_{\infty 1; \eta}[0, t)$ denote the class of all Borel measurable function $\theta : [0, t) \times R^N \rightarrow C$ such that

$$\|\theta\|_{\infty 1; \eta} = \int_{[0, t)} \|\theta(s, \cdot)\|_\infty |\eta|(s) < \infty.$$

A_t consists of all functions (actually equivalence classes of functions) on $C[0, t]$ of the form

$$F(x) = \sum_{n=0}^{\infty} \prod_{k=1}^{m_n} \int_{[0, t)} \theta_{n, k}(s, x(s)) d\eta_{n, k}(s)$$

where

$$(2) \quad \sum_{n=0}^{\infty} \prod_{k=1}^{m_n} \|\theta_{n,k}\|_{\infty 1; \eta_{n,k}} < \infty.$$

For $F \in A_t$, let $\|F\|_t$ be the infimum of the left-hand side of (2) over all such representations of F . In [1, Theorem 6.1], Johnson and Lapidus show that $(A_t, \|\cdot\|_t)$ is a commutative Banach algebra under pointwise multiplication and addition. In addition they show that given $F \in A_t$, $K_{\lambda}^t(F)$ exists for all $\lambda \in C_+^{\sim}$ and satisfies $\|K_{\lambda}^t(F)\| \leq \|F\|_t$. For λ in C_+^{\sim} , ψ in $L^2(\mathbb{R}^N)$, ξ in \mathbb{R}^N and positive real number t ,

$$\exp(-\lambda H_0/t) = \left(\frac{\lambda}{2t}\right)^{\frac{N}{2}} \int_{\mathbb{R}^N} \psi(u) \exp\left(\frac{-\lambda|u - \xi|^2}{2t}\right) dm_L(u),$$

where if N is odd we always choose $\lambda^{\frac{1}{2}}$ with nonnegative real part and if $\text{Re } \lambda = 0$ the integral in the above should be interpreted in the mean just as in the theory of the L_2 Fourier transform and H_0 is a free Hamiltonian. Then as a function λ , $\exp(-\lambda H_0/t)$ is analytic in C_+ , weakly continuous in C_+^{\sim} and $\|\exp(-\lambda H_0/t)\| \leq 1$.

Let a and b be positive real numbers. Let $E_{a,b} : C[0, a] \rightarrow C[0, b]$ be given by the formula

$$(3) \quad E_{a,b}(x)(s) = \sqrt{\frac{b}{a}} x\left(\frac{as}{b}\right).$$

for $0 \leq s \leq b$. Then $E_{a,b}$ is bijective and continuous under the topology of uniform convergence. From [4], we obtain the following lemma.

LEMMA 1. $m_{[0,a]} = m_{[0,b]} E_{a,b}$.

Let F be a function on A_a . Then we can write F in the form

$$(4) \quad F(x) = \sum_{n=0}^{\infty} \prod_{k=1}^{m_n} \int_{[0,a]} \theta_{n,k}(s, x(s)) d\eta_{n,k}(s)$$

where each $\eta_{n,k}$ is in $M[0, a]$ and each $\theta_{n,k}$ is in $L_{\infty 1; \eta_{n,k}}$. Now for each n and k we define a measure $\bar{\eta}_{n,k}$ in $M[0, \frac{a}{2})$ by the formula

$$\bar{\eta}_{n,k}(B) = \eta_{n,k}(2B)$$

for each Borel subset B of $[0, \frac{a}{2}]$. We also define $\bar{\theta}_{n,k}$ in $L_{\infty 1; \bar{\eta}_{n,k}}$ by $\bar{\theta}_{n,k}(s, v) = \theta_{n,k}(2s, v)$ for all $(s, v) \in [0, \frac{a}{2}] \times R^N$. We note that $\|\eta_{n,k}\| = \|\bar{\eta}_{n,k}\|$ and $\|\bar{\theta}_{n,k}\|_{\infty 1; \bar{\eta}_{n,k}} = \|\theta_{n,k}\|_{\infty 1; \eta_{n,k}}$. Now we define $\bar{F} : C[0, \frac{a}{2}] \rightarrow C$ by

$$(5) \quad \bar{F}(y) = \sum_{n=0}^{\infty} \prod_{k=1}^{m_n} \int_{[0, \frac{a}{2}]} \bar{\theta}_{n,k}(t, y(t)) d\bar{\eta}_{n,k}(t).$$

It is quite easy to verify that \bar{F} is in $H_{a/2}$ with $\|\bar{F}\|_{a/2} = \|\bar{F}\|_a$.

From [4], we obtain the following lemma.

LEMMA 2. Let F in H_a be given by (4) and let \bar{F} be given by (5). Then

$$K_{\lambda}^a(F) = K_{\lambda/2}^{a/2}(\bar{F}) \quad \text{for all } \lambda \text{ in } C_+^{\sim}.$$

For $x \in C[0, a]$ let $R_1(x)$ be the restriction of x to $[0, \frac{a}{2}]$; that is to say $R_1 : C[0, a] \rightarrow C[0, \frac{a}{2}]$ is given by $R_1(x)(s) = x(s)$ for $0 \leq s \leq a/2$. Also for $x \in C[0, a]$ let $R_2(x)$ be the restriction of x to $[a/2, a]$; that is to say $R_2 : C[0, a] \rightarrow C[a/2, a]$ is given by $R_2(x)(s) = x(s)$ for $a/2 \leq s \leq a$. Also let $T : C[a/2, a] \rightarrow C[0, a/2]$ be the translation map

$$T(x)(s) = x(s + a/2), \quad 0 \leq s \leq a/2.$$

DEFINITION. For F and G in H_a , we define $F \otimes G : C[0, a] \rightarrow C$ by the formula

$$(6) \quad (F \otimes G)(x) = \bar{F}(R_1(x))\bar{G}(T(R_2(x))).$$

REMARK: In view of the definition of $*$ given by equation (3,2) of [3] we see that $F \otimes G = \bar{F} * \bar{G}$.

From [4], we obtain the following lemma.

LEMMA 3. For F, G in A_a , $F \otimes G$ is in A_a and $K_{\lambda}^a(F \otimes G) = K_{2\lambda}^a(F)K_{2\lambda}^a(G)$ for all λ in C_+^{\sim} .

3. The addition operator \oplus .

In this section we introduce the internal noncommutative addition \oplus on A_a .

DEFINITION. For F and G in A_a , we define $F \oplus G : C[0, a] \rightarrow C$ by the formula

$$(7) \quad (F \oplus G)(x) = \overline{F}(R_1(x)) + \overline{G}(T(R_2(x))).$$

DEFINITION. Let I be a functional on $C[0, a]$ with $I(x) = 1$ for all x in $C[0, a]$.

Easily, we have $\overline{I}(x) = 1$ for $x \in C[0, a/2]$ and $I \in H_a$. In generally, $F \otimes I$ and F are not same but $I \otimes I = I$. Since $F \otimes I = \overline{F} \circ R_1(x)$ and $I \otimes G = \overline{G} \circ T \circ R_2$, $F \oplus G = F \otimes I + I \otimes G$. Hence we have the following theorem.

THEOREM 1. For F and G in A_a , $F \oplus G$ in A_a and $K_{2\lambda}^a(F \oplus G) = K_{2\lambda}^a(F) \exp(-2\lambda H_0/a) + \exp(-2\lambda H_0/a) K_{2\lambda}^a(G)$ for all λ in C_+^{\sim} .

PROOF: Since

$$\begin{aligned} K_{\lambda}^a(F)\psi &= \int_{co[0,a]} I(\lambda^{-1/2}x + \xi)\psi(\lambda^{-1/2}x(a) + \xi) dm_{[0,a]}(x) \\ &= \int_{co[0,a]} \psi(\lambda^{-1/2}x(a) + \xi) dm_{[0,a]}(x) = [\exp(-\lambda H_0/a)\psi](\xi) \end{aligned}$$

for $\psi \in L_2(R^N)$, $\lambda > 0$ and $\xi \in R^N$,

$$\begin{aligned} K^a(F \oplus G) &= K^a(F \otimes I + I \otimes G) \\ &= K_{2\lambda}^a(F)K_{2\lambda}^a(I) + K_{2\lambda}^a(I)K_{2\lambda}^a(G) \\ &= K_{2\lambda}^a(F) \exp(-2\lambda H_0/a) + \exp(-2\lambda H_0/a) K_{2\lambda}^a(G) \quad \text{for all } \lambda \text{ in } C_+^{\sim}. \end{aligned}$$

For F in A_a , we easily check that $(\overline{F})^p = \overline{F^p}$ for any natural number p .

THEOREM 2. For F, G in A_a ,

$$(F \oplus G)^n = \sum_{p+q=n} \frac{n!}{p!q!} F^p \otimes G^q.$$

Here, we adopt the conventions $F^0 = I = G^0$.

PROOF. Let $x \in C_0[0, a]$. Then

$$\begin{aligned}
 (F \oplus G)^n(x) &= (\overline{F} \circ R_1(x) + \overline{G} \circ T \circ R_2(x))^n \\
 &= \sum_{p+q=n} \frac{n!}{p!q!} (\overline{F} \circ R_1(x))^p (\overline{G} \circ T \circ R_2(x))^q \\
 &= \sum_{p+q=n} \frac{n!}{p!q!} \overline{F}^p \circ R_1(x) \overline{G}^q \circ T \circ R_2(x) \\
 &= \sum_{p+q=n} \frac{n!}{p!q!} F^p \otimes G^q.
 \end{aligned}$$

THEOREM 3. For F, G in A_a , $e^{F \oplus G} \in A_a$ and

$$\exp(F \oplus G) = \exp(F) \otimes \exp(G).$$

Moreover,

$$K_{2\lambda}^a(e^{F \oplus G}) = K_{2\lambda}^a(\exp F) K_{2\lambda}^a(\exp G) \quad \text{for all } \lambda \text{ in } C_+^{\sim}.$$

PROOF. Let $x \in C_0[0, a]$. Then

$$\begin{aligned}
 \exp(F \oplus G)(x) &= \sum_{n=0}^{\infty} \frac{1}{n!} (F \oplus G)^n(x) = \sum_{n=0}^{\infty} \sum_{p+q=n} \frac{1}{p!q!} (F^p \otimes G^q)(x) \\
 &= \sum_{p=0}^{\infty} \sum_{q=0}^{\infty} \frac{1}{p!q!} F^p \otimes G^q(x) = \sum_{n=0}^{\infty} \frac{1}{p!} F^p \otimes \sum_{n=0}^{\infty} \frac{1}{q!} G^q \\
 &= \exp(F) \otimes \exp(G).
 \end{aligned}$$

The rest part of this proof is trivial.

REMARK. It is well-known that if \oplus is a noncommutative operator, then the formula

$$\exp(A \oplus B) = \exp(A) \exp(B)$$

may fail. Nevertheless, in this case, this rule holds.

REFERENCES

1. G. W. Johnson and M. L. Lapidus, *Generalized Dyson series, generalized Feynman diagrams, the Feynman integral and Feynman's operational calculus*, Mem. Amer. Math. Soc. **62** No. 351 (1986), 1-78.
2. _____, *Une multiplication non commutative des fonctionnelles de Wiener etle calcul operationnel de Feynman*, C. R. Acad. Sci. **7** (1987), 523-526.
3. _____, *Noncommutative operations on Wiener functionals and Feynman's operational calculus*, J. Funct. Anal. (to appear).
4. K. S. Ryu and D. Skoug, *A Noncommutative but Internal Multiplication on the Banach Algebra A_t* , J. Korean Math. Soc. (1988) (to appear).

Department of Mathematics
Han Nam University
Taejon, 300-791, Korea